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Problem: The dimensions are shown for beam 80 kN/m
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a) Draw the shear diagram for the beam. Yy v VvV %\\
b) Determine the shear stress at points C D

(centroid) and D located on the web of ==
the beam. (the distance between D point
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and the lower edge of the cross section

is 30 mm)
c) Determine the shear stress at points A
and B.
d) Determine the maximum shear stress
ing in th m at the critical ion.
acting in the beam at the critical sectio e 30 mm
a)
V (kN)
160
0
K, =160kN L, =160kN
b) c)
The neutral axis passes through centroid C of the cross-section, Q.-LB =0.045(0.15)(0.03)
— _ ZyA _ 0075(0.15)(0.03) + 0.165(0.03)(0.15) . gy
Y*=3a 0.15(0.03) + 0.03(0.15) = 2.025(107) m
3 -4
& It 27.0(107%) (0.15)
I= %(0.03)(0.15‘” 0.03(0.15)(0.12 = 0.075)2 — 4 MPa
%) [2.025(107*
+L(015)(0(n~‘) + 0.15(0.03)(0.165 — 0.12)° g = Y2 Os = 80“0)[ s )J
g IS PN = B It 27.0(107%) (0.03)
=27.0(10"% m* = 20 MPa
Omax = V' A’ = 0.06 (0.12)(0.03) d) V=160 kN
= 0216 (107) m’ Ul 160(10°) [0216(107%)]
Q, =0.105(0.03)(0.03) _—ETE 27.0(107°) (0.03)
= 0945107 m?
3 -3 =42.66 MPa
Ve Q800109 [0216(107%)]
© T T T 27001079 (0.03)
=2133MPa
VpQp 800109 [0.945(107%)
™ T T T 27001079 (0.03)
= 933MPa




